
   

 

UNITED STATES DISTRICT COURT 
EASTERN DISTRICT OF LOUISIANA 

 
IN RE: OIL SPILL by the OIL RIG 
 “DEEPWATER HORIZON” in the 
 GULF OF MEXICO, on 
 APRIL 20, 2010 
 
THIS DOCUMENT RELATES TO: 
 
ALL ACTIONS 

 

:
:
:
:
:
:
:
:
:
:
:

MDL NO. 2179 
 
 
 
SECTION: J 
 
 
 
JUDGE BARBIER 
MAG. JUDGE SHUSHAN 

. .  . .  . .  . .  . .  . .  . .  . .  . .  . .  . .  . .  . .  . .  . .  . . . . .  . .  . .  . .  . .  . .  . .  . .  . .  . .  . .  . .  . .   
 

ORDER 

CONSIDERING THE FOREGOING Fourth Motion for Confirmation of Non-

Applicability of Preservation of Evidence Obligations as to Certain Subpoenaed Items and as to 

Certain Non-Evidentiary Items filed by BP America Inc., BP America Production Company, and 

BP Exploration & Production Inc. (collectively, the “BP Defendants” or “BP”);  

IT IS ORDERED that the motion is GRANTED; 

IT IS FURTHER ORDERED that BP may recycle, reuse or otherwise dispose of each 

item described in Exhibits A, B, C, D, E and F to this Order provided that (i) BP has made or 

shall make all such items available for inspection by any party to this litigation at a secure 

location for a period of no fewer than five (5) business days following the entry of this Order; (ii) 

BP has caused or shall cause photographs of all such items to be taken and made available to all 

parties to this litigation; and (iii) in the event that a party to the litigation notifies BP in writing or 

by e-mail that the party objects to confirming the non-applicability of BP’s 

preservation-of-evidence obligations as to a specific item on or before July 15, 2011, BP shall 

retain the item at a secure location pending resolution of the issue by the parties and/or this 

Court. 

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 1 of 47



 

  2 

ALSO, IT IS FURTHER ORDERED that without seeking additional intervention from 

this Court, BP may also release those physical items that it may subsequently locate or recover 

that are of the same type as the items described in Exhibits A, B, C, D, E and F to this Order, 

provided that (i) BP shall publish a list of all such items and provide notice of its intent to release 

those items to all parties to this action in the same manner that BP has provided all parties with 

copies of Exhibits A, B, C, D, E, and F; (ii) BP shall make all such items available for inspection 

by any party to this litigation at a secure location for a period of no fewer than five (5) business 

days following the notice to all parties that BP intends to release those items; (iii) BP shall cause 

photographs of all such items to be taken and made available to all parties to this litigation; and 

(iv) in the event that a party to the litigation notifies BP in writing or by e-mail that the party 

objects to confirming the non-applicability of BP’s preservation-of-evidence obligations as to a 

specific item, BP shall retain the item at a secure location pending resolution of the issue by the 

parties and/or this Court. 

THUS DONE AND SIGNED, this ____ day of ____________, 2011, at New Orleans, 

Louisiana. 

 

________________________________________________ 
HONORABLE CARL J. BARBIER 

UNITED STATES DISTRICT JUDGE 

   

8th
   Hello This is a Test

July

United States District Judge

Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 2 of 47



 

 

 
 
 
 
 
 
 
 
 
 

EXHIBIT A 
  

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 3 of 47



Exhibit A

Item Number Description Detail Description Production Bates # Comments
1 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)

Produced on 12/11/2010 as BP-HZN-
2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

2 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

3 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

4 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

5 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

6 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

7 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

8 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

9 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

10 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts) Photos also contain images of 
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731
Yokohama hose, released per BP's first 
equipment motion

11 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

12 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

13 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

14 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

15 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

16 HOSE RACK Offloading Hose, Manuli (Enterprise to Massachusetts)
Produced on 12/11/2010 as BP-HZN-

2179MDL00273729-BP-HZN-2179MDL00273731

Photos also contain images of 
Yokohama hose, released per BP's first 
equipment motion

17 CHOKE - 2330236-09 DR30 Choke (USED SUBSEA)
BP-HZN-2179MDL02316838 -BP-HZN-

2179MDL02316838 No Comments

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 4 of 47



Exhibit A

Item Number Description Detail Description Production Bates # Comments
18 DRILL STRING Drill String from the Q-4000

BP-HZN-2179MDL02316586 - BP-HZN-
2179MDL02316587 No Comments

19 DRILL STRING Drill String from the Discoverer-Enterprise
BP-HZN-2179MDL02316586 - BP-HZN-

2179MDL02316587 No Comments

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 5 of 47



 

  

 
 
 
 
 
 
 
 
 
 

EXHIBIT B 
  

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 6 of 47



Exhibit B

Item Number Description Detail Description Production Bates #
1 PELICAN CASE BOX 1 (P-TRANSDUCER PANELS) 4-17H HI FLOW HS'S, 2-

17D HI FLOW HS,S
ROV Tooling - Pressure gauge / transducer assembly with hot stabs used for 
subsea systems acoutic pressure monitoring BP-HZN-2179MDL02316588

2 PELICAN CASE BOX 2 (P-TRANSDUCER PANELS) 1-17H DUEL PORT 
GAUGE, 1-17D RECEPTACLE

ROV Tooling - Pressure gauge / transducer assembly with hot stabs used for 
subsea systems acoutic pressure monitoring BP-HZN-2179MDL02316588

3 PELICAN CASE - 17H DP-17D SP ADAPTER ROV Tooling - Pressure gauge / transducer assembly with hot stabs used for 
subsea systems acoutic pressure monitoring BP-HZN-2179MDL02316588

4 PELICAN CASE - 17D SP GAUGE ROV Tooling - Pressure gauge / transducer assembly with hot stabs used for 
subsea systems acoutic pressure monitoring BP-HZN-2179MDL02316588

5 PELICAN CASE
BP-HZN-2179MDL02316589

6 MCDANIEL CONTROLS, NEW PRESSURE GAUGE, 1/4" NPT, 0-30 PSI, 
AB91007 BP-HZN-2179MDL02316590

7 MCDANIEL CONTROLS, NEW PRESSURE GAUGE, 1/4" NPT, 0-30 PSI, 
AB91007 BP-HZN-2179MDL02316591

8 PRESSURE GAUGE 0-3000 PSI, SPAN, OIE# S13309
BP-HZN-2179MDL02316592

9 PRESSURE GAUGE 0-3000 PSI, SPAN, OIE# S12087
BP-HZN-2179MDL02316593

11 NEW SPAN 15,000 PSI GAUGE 5" P/N: 0208270
BP-HZN-2179MDL02316595

12 NEW SPAN 15,000 PSI GAUGE 5" P/N: 0208270
BP-HZN-2179MDL02316596

13 NEW SPAN 15,000 PSI GAUGE 5" P/N: 0208270
BP-HZN-2179MDL02316597

14 NEW SPAN 15,000 PSI GAUGE 5" P/N: 0208270
BP-HZN-2179MDL02316598

15 NEW SPAN 15,000 PSI GAUGE 5" P/N: 0208270
BP-HZN-2179MDL02316599

38 NEW STEWARTS 15 PSI GAUGE CODE 435-15
BP-HZN-2179MDL02316622

40 PELICAN CASE (LABELLED ACOUSTIC PANEL BOX 5)
BP-HZN-2179MDL02316624

41 PELICAN CASE (LABELLED ACOUSTIC TRANSDUCER PANELS BOX 3)41 PELICAN CASE (LABELLED ACOUSTIC TRANSDUCER PANELS - BOX 3)
BP-HZN-2179MDL02316625

42 PELICAN CASE (LABELLED DUAL PRESSURE SINGLE TEMP WIRELESS 
MODEM) BP-HZN-2179MDL02316626

43 PELICAN CASE (LABELLED ACOUSTIC PANEL BOX - 4)
BP-HZN-2179MDL02316627

44 PELICAN CASE
BP-HZN-2179MDL02316628

45 PELICAN CASE (LABELLED MUD BOOST LINE ACOUSTIC PANELS)
BP-HZN-2179MDL02316629

46 PELICAN CASE (EMPTY)
BP-HZN-2179MDL02316630

47 PELICAN CASE (LABELLED MUD BOOSTER SPARES & DEBURRING TOOL)
BP-HZN-2179MDL02316631

48 PELICAN CASE (LABELLED DUAL PRESSURE, SINGLE TEMP WIRELESS 
MODEM) BP-HZN-2179MDL02316632

49 PELICAN CASE (LABELLED OCEANEERING ROV INSTALLABLE FITTING & 
REMOVAL TOOL) BP-HZN-2179MDL02316633

50 PELICAN CASE (LABELLED DATA ACQUISITION UNIT)
BP-HZN-2179MDL02316634

51 PELICAN CASE (LABELLED DUEL PRESSURE SINGLE TEMP MODEM 
PANEL) BP-HZN-2179MDL02316635

52 PELICAN CASE (LABELLED DOWN HOLE PRESSURE TEMP MODEM  S/N 
121568-1) BP-HZN-2179MDL02316636

53 PELICAN CASE (LABELLED ACCUMULATOR BANK FLOW METER)
BP-HZN-2179MDL02316637

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 7 of 47



Exhibit B

Item Number Description Detail Description Production Bates #
54 FLOW METER PPG 911.20 NU FLOW MAX WP 5,000 PSI

BP-HZN-2179MDL02316638

55 PELICAN CASE
BP-HZN-2179MDL02316639

56 PELICAN CASE (LABELLED DOWN HOLE PRESSURE TEMP. WIRELESS 
MODEM S/N 121568-2) BP-HZN-2179MDL02316640

57 PELICAN CASE (LABELLED WIRELESS PRESS.)
BP-HZN-2179MDL02316641

58 PELICAN CASE (LABELLED SPL-293)
BP-HZN-2179MDL02316642

59 PELICAN CASE (LABELLED BP PLUMENATOR)
BP-HZN-2179MDL02316643

60 PELICAN CASE (LABELLED BP WEST SIRUS DRILL RIG,  GT-3P40, 3 IN, 
ROV PLUGS 3000 PSI) BP-HZN-2179MDL02316644

61 PELICAN CASE (LABELLED ROV INSTALLABLE FITTING & REMOVAL TOOL)
BP-HZN-2179MDL02316645

62 PELICAN CASE
BP-HZN-2179MDL02316646

63 PELICAN CASE
BP-HZN-2179MDL02316647

64 PELICAN CASE (LABELLED OPTION 1 GAUGE PACK)
BP-HZN-2179MDL02316648

65 PELICAN CASE (LABELLED OIWB2 OI0020)
BP-HZN-2179MDL02316649

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 8 of 47



 

  

 
 
 
 
 
 
 
 
 
 

EXHIBIT C 
  

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 9 of 47



Exhibit C

Item Number Description Detail Description Production Bates #
1 ROV STAB PORT ON CANS Wild Well Control / ROV installable Dispersant injection mugs / contingency (not 

required) for choke exhaust to provide uniform dispersant application
BP-HZN-2179MDL02316653

2 ROV STAB PORT ON CANS Wild Well Control / ROV installable Dispersant injection mugs / contingency (not 
required) for choke exhaust to provide uniform dispersant application

BP-HZN-2179MDL02316654
3 FLANGED CONED REDUCER Topside 8" - 20" oil offloading adapter

BP-HZN-2179MDL02316655
4 FLANGED CONED REDUCER Topside 8" - 20" oil offloading adapter

BP-HZN-2179MDL02316656
5 CLAMPS Toisa Pisces Flexible Kit

BP-HZN-2179MDL02316657
6 PULLING HEADS Toisa Pisces Flexible Kit

BP-HZN-2179MDL02316657
7 BOLTS 6"X 1-1/8 Toisa Pisces Flexible Kit

BP-HZN-2179MDL02316657
8 MANIFOLD Overboarding Chutes for Surface Transfer Hose

BP-HZN-2179MDL02316658
9 MANIFOLD Overboarding Chutes for Surface Transfer Hose

BP-HZN-2179MDL02316659
10 CROSS OVER SPOOLS # J-14319 Emergency Quick Disconnect System - Toisa Pisces

BP-HZN-2179MDL02316660
11 CROSS OVER SPOOLS # J-14319 Emergency Quick Disconnect System - Toisa Pisces

BP-HZN-2179MDL02316661
12 MONITOR Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
13 DELL COMPUTERS Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
14 DELL KEYBOARDS Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
15 DELL MOUSE Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
16 AC POWER SUPPLYS (FOR THE DELL COMPUTERS) BY CISCO Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
17 LINK SYS ROUTER Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
18 ETHER NET MEDIA CONVERTER W/CABLE Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
19 24-PIN SERIAL CABLE Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
20 3 PRONG A/C POWER CORD Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
21 ETHERNET CABLE Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
22 A/C POWER SUPPLY Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
23 BELKIN HPDB50 P/M CABLE Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
24 PASS 1234 HONEYWELL KEYBOARD Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
25 ETHERNET MEDIA CONVERT Toisa Pisces - Communications / Office Equipment

BP-HZN-2179MDL02316662
26 THERMO COUPLES MODEL # 0078L21C30N150XAE5 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316663

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 10 of 47



Exhibit C

Item Number Description Detail Description Production Bates #
27 H25 SENSOR ASSY Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316663
28 THERMO COUPLES MODEL# 0078L21C30N060XAE5 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316663
29 PRESSURE TRANSMITTER W/TWO SENSOR WIRE ASSY EACH MODEL 

#3051CD4A22A1A52M5E5B4
Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316663
30 ROSEMOUNT 3144[ HART TEMPERATURE TRANSMITTER MODEL# 

3144PD1A1E5M5
Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316663
31 PRESSURE TRANSMITTER MODEL# 3051CD2A02A1AS5E5M5 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316663
32 ROSEMOUNT 3144 HART TEMPERATURE TRANSMITTER Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316664
33 4-20 MA FIXED GAS GAS MONITOR Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316664
34 THERMOCOUPLES MODEL# 0078L21C30N150XAE5 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316664
35 PRESSURE TRANSMITTER W/2WIRE SENSOR ASSY EACH Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316664
36 PRESSURE TRANSMITTER W/ONE WIRE ASSY EACH MODEL# 

3051TG4A2B21ASIB4E5M5
Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316664
37 PRESSURE TRANSMITTER MODEL# 3051TG4A2B21AS5B4E5M5 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316665
38 GRAY SPEAKER 302GCX-024 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316665
39 PROCESS A DECK P-7400/GAS STRIPPER Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316665
40 PRESSURE TRANSMITTER W/ONE WIRE SENSOR ASSY EACH MODEL# 

3051TG2A2B21ASIB4E5M5
Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316665
41 PRESSURE TRANSMITTER W/TWO WIRE SENSOR ASSY EACH MODEL # 

3051CD4A22ASAS2M5RDB4
Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316665
42 VALVES PROCESS A DECK TAG-XV-4131, XV-4141 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316666
43 ACTUACTORS PROCESS A DECK TAG-MBM-7420-1-2 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316666
44 ACTUATOR MANN DECK (PORT SIDE) TAG-SDV-11461 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316666
45 4-20 MA FIXED GAS GAS MONITOR Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316666
46 CONTROL MONITOR (BEAM) Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316666
47 VALVE POSITION INDICATOR Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316666
48 THREE POSITION SWITCH CONTROL STATION Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316666
49 FIRE ALARM STATION - XAL-458 (PULL RING) Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316666
50 FLAME DETECTOR (71450) DAMAGED Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316666
51 HEAT DETECTOR 13102-A500036 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316666
52 ROSEMOUNT CONNECTION HEAD PN# 00079-0324-0004 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316666
53 TOP HAT LANDING RINGS Top Hat #10 Contingency Landing Ring (Unused)

BP-HZN-2179MDL02316667

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 11 of 47



Exhibit C

Item Number Description Detail Description Production Bates #
54 TOP HAT LANDING RINGS Top Hat #10 Contingency Landing Ring (Unused)

BP-HZN-2179MDL02316668
55 MC-252-3, 26" ID MEMORIAL CAP HORIZON 11 Contingency Wellhead Cap (Unused)

BP-HZN-2179MDL02316669
56 1200 FT ROV UMBILICAL ROV Controls Line

BP-HZN-2179MDL02316670
57 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
58 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
59 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
60 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
61 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
62 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
63 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
64 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
65 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
66 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
67 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
68 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
69 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
70 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
71 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
72 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
73 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
74 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
75 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
76 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
77 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
78 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
79 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
80 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 12 of 47



Exhibit C

Item Number Description Detail Description Production Bates #
81 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
82 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
83 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
84 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
85 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
86 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
87 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
88 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
89 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
90 USED BOOMS Collection tools for floating debris / materials BP-HZN-2179MDL02316671 - BP-HZN-

2179MDL02316675
91 URETHANE SPACER BUILT FOR USE WITH TOP HAT # 8  ON CAPPING 

STACK (NEVER USED) 26" OD X 12.5" ID X 18.5" HIGH  MASTER TAG ID TOP-
08-A DESCRPITION: URETHANE TOP HAT SPACER SERIAL NUMBER: N/A

Urethane Top Hat Spacer for Top Hat #8 (Unused)

BP-HZN-2179MDL02316676
92 ROV PANEL MINI CONEECTOR Connector Pressure Cap

BP-HZN-2179MDL02316677
93 3/4" X 87'-7" 2 LEG SLING - 2748076-01 Used with Connector Pressure Cap

BP-HZN-2179MDL02316677
94 FLANGE WITH AUTO CLAVE Connected to Connector Pressure Cap for Bore Access

BP-HZN-2179MDL02316677

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 13 of 47



 

  

 
 
 
 
 
 
 
 
 
 

EXHIBIT D 
  

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 14 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
1 CONTAINING THE FOLLOWING:  (2) 10113355-GASKET,VX W/ HY-CAR 

INSERT, 18.750-10KPSI (2) 10113608-FLG. GUARD PROTECTOR, 1/2 THK, 5 
1/8-10M (1) 10113618-FLANGE GUARD PROTECTOR 7-1/16, 1/8" THK (1) 
10113619-FLANGE GUARD PROTECTOR 7-1/16, 1/4" THK (4) 10113634-FLG. 
GUARD PROTECTOR, 1/4 THK, 5 1/8-10M (5) 10113635-FLG. GUARD 
PROTECTOR, 1/8 THK, 5 1/8-10M (1) 10113660-FLANGE GUARD 
PROTECTOR 7-1/16", 3/8" THK (12) 10113503-SHIM, 1/4" THICK FOR VLV 
SUPPORT (1) 1011350-SHIM, 1/8" THICK FOR VLV SUPPORT (6) BB20-
100043-00-SEAL POLYPAK 46.25 ID X 47.25OD X 3/4 LONG (2) BB20-100042-
00-SEAL POLYPAK 41 ID X 42 OD X 3/4 LG (2) BB20-100113-00-O-RING, 500" 
CS X 27,000" ID (2) BB20-100038-00-SEAL POLYPAK 42.000 ID X 43.000 OD X 
.75 (2) BB20-100037-00-SEAL O-RING .139 SECTION X 46.250 ID (1) 10113453-
HOT STAB 17TH DUAL PORT STB-X41070 (1) T HANDLE FOR X-OVER TOOL 
AND ROTARY VALVE (1) MISC HARDWARE: WASHERS, OLD SEALS FROM 
ISOLATION SLEEVE, BOLTS, NUTS, STUDS (6) BX 169 GASKETS (4) SEAL 
RETAINER RODS (2) VNX GASKETS

Raw materials

BP-HZN-2179MDL02316678 No Comments
2 20' CONTAINER EMSU 461985-7 Contains Surface Operations Equipment Raw Materials, Parts and Spares BP-HZN-2179MDL02316679 - BP-HZN-

2179MDL02316681 No Comments
3 20' CONTAINER EMSU 031226-6 Contains Surface Operations Equipment Raw Materials, Parts and Spares

BP-HZN-2179MDL02316682 No Comments
4 20' CONTAINER 685011 Contains Surface Operations Equipment Raw Materials, Parts and Spares

BP-HZN-2179MDL02316683 No Comments
5 20' CONTAINER 264038-0 Contains Surface Operations Equipment Raw Materials, Parts and Spares BP-HZN-2179MDL02316684 - BP-HZN-

2179MDL02316688 No Comments
6 20' CONTAINER #EMSU 777269-0 Contains Surface Operations Equipment Raw Materials, Parts and Spares BP-HZN-2179MDL02316689 - BP-HZN-

2179MDL02316691 No Comments
7 20' CONTAINER EMSU 461369-5 Contains Surface Operations Equipment Raw Materials, Parts and Spares BP-HZN-2179MDL02316692 - BP-HZN-

2179MDL02316693 No Comments
8 5/8" TURN BUCKLES Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
9 4" X 12" PIPE NIPPLES Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
10 4" X 24" PIPE THREADED ON ONE END Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
11 4"  3M A 105 ELBOWS Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
12 1" X 14" HANDLES Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
13 1/2" X 6" HOSE P/N SAE  100R 17-8 Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
14 1" X 4' HOSE P/N SAE 100R17-16 Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
15 1" X 4' HYDRAULIC HOSE P/N SAE 100R2AT-16 Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
16 1" X 4' HYDRAULIC HOSE P/N SAE 100R2 Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
17 1" x 6' HYDRAULIC HOSE P/N SAE 100R2AT-16 Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
18 1" X 2' HYDRAULIC HOSE P/N SAE 100R2AT-16 Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
19 1" X 2' HYDRAULIC HOSE P/N SAE 100R2AT-16 Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
20 1/2" X 2' HYDRAULIC HOSE PN 4517C-8 Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 15 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
21 1" X 10' HYDRAULIC HOSE P/N SAE 100R2AT-16 Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
22 4" GALVANIZED ELBOWS Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
23 4" STAINLESS COUPLINGS Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
24 4" ALUMINUM COUPLINGS Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
25 4" HOSE COUPLINGS Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
26 4" 600WOG BRASS BALL VALVES Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
27 2" X 27' STRAP WITH RATCHETS Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
28 SAFETY HARDNESS WITH 1 5/16 x 3 FT CHAIN WITH HOOKS Raw Spare Parts and Hoses for Unknown Use (Unused)

Produced on 2/14/2011 as BP-HZN-2179MDL00576872 See Note 1
29 4" STAINLESS STEEL THREAD FLANGES Misc. from Wild Well Dock

Produced on 2/14/2011 as BP-HZN-2179MDL00576915 See Note 1
30 4" BLACK STEEL THREADED FLANGES Misc. from Wild Well Dock

Produced on 2/14/2011 as BP-HZN-2179MDL00576915 See Note 1
31 2" X 2" X 4" X 1/2" THICK ANGLES Misc. from Wild Well Dock

Produced on 2/14/2011 as BP-HZN-2179MDL00576915 See Note 1
32 2" X 2" X 5" X 3/8" THICK ANGLES Misc. from Wild Well Dock

Produced on 2/14/2011 as BP-HZN-2179MDL00576915 See Note 1
33 4" GASKETS Misc. from Wild Well Dock

Produced on 2/14/2011 as BP-HZN-2179MDL00576915 See Note 1
34 14" HANDLES Misc. from Wild Well Dock

Produced on 2/14/2011 as BP-HZN-2179MDL00576915 See Note 1
35 17" OD X 7" ID X 19" TALL RUBBER SEAL Top Hat Rubbers - SPARE

Produced on 2/14/2011 as BP-HZN-2179MDL00576915 See Note 1
36 20" OD X 7" ID X 20" TALL RUBBER SEAL Top Hat Rubbers - SPARE

Produced on 2/14/2011 as BP-HZN-2179MDL00576915 See Note 1
37 46" OD X 14" ID X 1" THICK RUBBER GASKET Top Hat Rubbers - SPARE

Produced on 2/14/2011 as BP-HZN-2179MDL00576915 See Note 1
38 26" OD X 12 1/2" ID X 3 1/2" FLANGE POLY Spare Flange

BP-HZN-2179MDL02316694 No Comments
39 30" ROUND X 1" OD TUBING "GAS" 30" ID Dispersant Injection Ring / SPARE for bottom of top hat

BP-HZN-2179MDL02316695 No Comments
40 48" ROUND X 1" OD TUBING "GAS" 48" ID Dispersant Injection Ring / SPARE for bottom of top hat

BP-HZN-2179MDL02316695 No Comments
41 74" ROUND X 1" OD TUBING "GAS" 74" ID Dispersant Injection Ring / SPARE for bottom of top hat

BP-HZN-2179MDL02316695 No Comments
42 1" X 36" PIPE WITH VALVE GAS Dispersant injection receptacle which was removed from dispersant ring

BP-HZN-2179MDL02316695 No Comments
43 4 1/16 - 2 1/16" 15,000# DRILLING SPOOL ADAPTER Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316696 No Comments
44 BX164  316 SS RING GASKET Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316696 No Comments
45 2 1/16" 15,000# 2 /16" 10,000# DRILLING SPOOL ADAPTER Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316696 No Comments
46 6" 90 DEG FLOW PIPE 34" LENGTH Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316696 No Comments
47 3" X 27" STUDS W/NUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316697 No Comments
48 3" X 27" STUDS W/NUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316698 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 16 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
49 3" X 27" STUDS W/NUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316699 No Comments
50 3" X 27" STUDS W/NUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316700 No Comments
51 3" X 27" STUDS W/NUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316701 No Comments
52 3" x 38" STUD W/NUT Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316702 No Comments
53 3" X 9" STUDS (CUT OFFS) Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316702 No Comments
54 1" X 7 1/2" STUDS W/NUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
55 1" X 6" STUDS W/NUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
56 3/4" X 7" STUDS W/NUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
57 1" X 6" STUDS W/NUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
58 F43C FLAT WASHERS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
59 BX169 RING GASKET Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
60 BX154 RING GASKET Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
61 2 1/16" 10,0000# BLIND FLANGE Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
62 2 1/16" 15,000# BX134 FLANGE (BLIND FLANGE) Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
63 5,000# TORQUE MASTER LINK ASSEMBLY Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
64 5/8" X 6" STUDS WITH NUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
65 1" HEX NUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
66 BAG MISC. HYDRAULIC HOSE FITTINGS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
67 3/8" X    HYDRAULIC HOSE (BLACK) Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
68 1/2" X HYDRAULIC HOSE (YELLOW) Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
69 HIGH PRESSURE POLYETHYLENE CUT - OUTS Used or Spare Kit for Offshore Operations (Possibly Enterprise)

BP-HZN-2179MDL02316703 No Comments
70 4" BLACK PIPE BP Work String

BP-HZN-2179MDL02316704 No Comments
71 CUT PONY COLLARS BP Work String

BP-HZN-2179MDL02316704 No Comments
72 PART OF DEEP WATER ELBOW STAB PIPE

BP-HZN-2179MDL02316705 No Comments
73 6X6X103 1/2" SQUARE BRACES Misc. Structure Removed from Vessel BP-HZN-2179MDL02316706 - BP-HZN-

2179MDL02316707 No Comments
74 8 FT X 6 FT PLATFORM Misc. Structure Removed from Vessel BP-HZN-2179MDL02316706 - BP-HZN-

2179MDL02316707 No Comments
75 8 FT X 6 FT PLATFORM Misc. Structure Removed from Vessel

BP-HZN-2179MDL02316708 No Comments
76 6X6X103 1/2" SQUARE BRACES Misc. Structure Removed from Vessel

BP-HZN-2179MDL02316708 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 17 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
77 PIPE 11 1/2 OD X 81 " LONG WITH FLANGE ON ONE END Misc. Structure Removed from Vessel

BP-HZN-2179MDL02316708 No Comments
78 LIFTING DEVICE (FLANGE ON ONE END LIFTING EYE ON OTHER END) Misc. Structure Removed from Vessel

BP-HZN-2179MDL02316708 No Comments
79 STAINLESS STEEL PIPE - 4"  4VWL-902-02 4VWL-938-02 Intermoor - Topsides Fluid Transfer System

BP-HZN-2179MDL02316709 No Comments
80 STAINLESS STEEL PIPE - 4"  4VWL-902-02 4VWL-938-02 Intermoor - Topsides Fluid Transfer System

BP-HZN-2179MDL02316710 No Comments
81 CASON PIPE JOINTS Kiewitt Operations - Misc. Structure Removed from Vessel

BP-HZN-2179MDL02316711 No Comments
82 CASON PIPE JOINTS Kiewitt Operations - Misc. Structure Removed from Vessel

BP-HZN-2179MDL02316712 No Comments
83 6" HEAVYWALL PIPE (10 FT) Raw Material Spare for Misc Use Piping

BP-HZN-2179MDL02316713 No Comments
84 6" HEAVYWALL PIPE (7 FT) Raw Material Spare for Misc Use Piping

BP-HZN-2179MDL02316713 No Comments
85 18 ft LONG CAISSONS (PIPE JOINTS) Structural raw materials - topsides

BP-HZN-2179MDL02316714 No Comments
86 18 ft LONG CAISSONS (PIPE JOINTS) Structural raw materials - topsides

BP-HZN-2179MDL02316715 No Comments
87 18 ft LONG CAISSONS (PIPE JOINTS) Structural raw materials - topsides

BP-HZN-2179MDL02316716 No Comments
88 18 ft LONG CAISSONS (PIPE JOINTS) Structural raw materials - topsides

BP-HZN-2179MDL02316716 No Comments
89 18 ft LONG CAISSONS (PIPE JOINTS) Structural raw materials - topsides

BP-HZN-2179MDL02316717 No Comments
90 18 ft LONG CAISSONS (PIPE JOINTS) Structural raw materials - topsides

BP-HZN-2179MDL02316717 No Comments
91 WHITE TEFLON SHEETS Teflon Sheets

BP-HZN-2179MDL02316718 No Comments
92 8" X 36'5" PIPE SCH 40 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316719 No Comments
93 10" X 40'1" PIPE SCH 40 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316720 No Comments
94 8" X 36'5" PIPE SCH 40 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316721 No Comments
95 10" X 37'9" PIPE CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316722 No Comments
96 8" X 36'5" PIPE SCH 40 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316723 No Comments
97 8" X 36'5" PIPE SCH 40 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316724 No Comments
98 5" X 20'7" PIPE SCH80 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316725 No Comments
99 10" X 25'7" PIPE SCH 40 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316726 No Comments
100 5" X 20'7" PIPE SCH80 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316727 No Comments
101 5" X 20'7" PIPE SCH80 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316728 No Comments
102 5" X 20'7" PIPE SCH80 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316729 No Comments
103 5" X 20'7" PIPE SCH80 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316730 No Comments
104 4" X 20'8" PIPE SCH40 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316731 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 18 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
105 3" X 40' 1" PIPE SCH 40 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316732 No Comments
106 3" X 41' 0" PIPE SCH 40 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316732 No Comments
107 1-1/2" X 21'0" PIPE SCH 40 CS Raw pipe - Topsides piping

BP-HZN-2179MDL02316733 No Comments
108 8" X 20'5" PIPE SCH80 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
109 2" X 18'8" PIPE SCH80 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
110 3" X 21'10" PIPE SCH40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
111 8" X 21'9" PIPE SCH 80 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
112 6" X 14' 8" PIPE SCH 40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
113 8" X 18' 4" PIPE SCH 40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
114 6" X 2'2" PIPE SCH 40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
115 1-1/2" X 21' 0" PIPE SCH 40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
116 3" X 21' 0" PIPE SCH 40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
117 1-1/2" X 21'3" PIPE SCH 40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
118 1" X 8'5" PIPE SCH 80 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
119 2" X 15'3" PIPE SCH 40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
120 2" X 10' 10" PIPE SCH 160 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
121 3" X 19'1" PIPE SCH 80 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
122 6" X 11'10" PIPE SCH 40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
123 2" X 19'8" PIPE SCH 40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
124 3/4" X 15'8" PIPE XXH CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
125 1/2" X 21'7" PIPE XXH CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
126 2" X 16'4" PIPE SCH40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
127 1-1/2" X 23'0" PIPE SCH 80 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
128 1-1/2" X 18'9" PIPE SCH 80 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
129 2" X 21'8" PIPE SCH 40 CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
130 2" X 13'5" PIPE SCH 40 GALV Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
131 2" X 21'11" PIPE SCH80 GALV Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
132 3" X 18'4" PIPE SCH 80 GALV Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 19 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
133 1-1/2" X 20'11" PIPE SCH40 GALV Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
134 1-1/2" X 21'1" PIPE SCH 40 GALV Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
135 1/2" X 21'1" PIPE SCH 40 GALV Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
136 4" X 10'2" PIPE SCH 40 SS316 Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
137 1" X 22'11" PIPE SCH 40 SS316 Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
138 1" X 21'3" PIPE SCH 40 SS316 Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
139 3" X 21'0" PIPE SCH 40 SS316 Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
140 2" X 21'0" PIPE SCH 40 SS316 Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
141 4" X 21'5" PIPE CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
142 3" X 21'1" PIPE CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
143 4" X 14'6" PIPE CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
144 1-1/2" X 12'4" PIPE CS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
145 4" X 21' PIPE SS Raw pipe - Topsides piping BP-HZN-2179MDL02316734 - BP-HZN-

2179MDL02316735 No Comments
146 20 FT CONTAINER - GATU-016678-9 Kiewitt Operations Container

BP-HZN-2179MDL02316736 No Comments
147 6" TEE STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
148 8" TEE STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
149 8" 45 DEG. ELBOW STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
150 6" 90 DEG. ELBOW STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
151 8" X 6" REDUCER STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
152 10" X 8" REDUCER STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
153 2" X 1 1/2" BALL VALVE W/HANDLE 300# SS KF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
154 4" BUTTERFLY VALVE W/HANDLE 150# SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
155 2" BUTTERFLY VALVE W/HANDLE 150# SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
156 FLANGE BUTTERFLY VALVE W/ HANDLE 10" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
157 2 DOUBLE STUDDED FLANGE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
158 8" 90 DEG. ELBOW STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
159 2" X 1 1/2" BALL VALVE W/HANDLE 150# SS KF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
160 FLANGE WELDNECK RF 8" 300 STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 20 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
161 FLANGE WELDNECK RF 8" 300 STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
162 FLANGE WELDNECK 6" 300 STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
163 FLANGE WLDNECK RF 10" 150 STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
164 FLANGEE SLIP-ON 6" 300 RF XH Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
165 FLANGE SLIP-ON 8" 300 RF XH Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
166 FLANGE BLIND 18" 150 RF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
167 4" BLIND FLANGE 300 RF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
168 ELBOW 90DEG. 6" X 1.250 WELL XH Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
169 1 1/2" GATE VALVE 800 BONNEY FORGE W/HANDLE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
170 2" 150 BALL VALVE KITZ W/ HANDLE RF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
171 2" 300 BALL VALVE RF W/HANDLE WORLD VALVE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
172 2" 600 BALL VALVE SLIP ON W/HANDLE GMEC Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
173 2" 150 BALL VALVE RF W/HANDLE WKM Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
174 2" 150 CHECK VALVE RF VELAN Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
175 AIR PRESSURE HOSE 63731-1SA #499344 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
176 1 3/8" X 8 3/4" STUD W/HEX NUT EACH END Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
177 2" X 3" EXPANSION JOINT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
178 EXPANSION JOINT 4" X 6" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
179 PANCAKE FLANGE 8" 150# Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
180 PANCAKE FLANGE 2" 150# Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
181 PRESSURE GAUGE 0 - 30 PSI Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
182 UNION ELBOW 1/2" TUBE X 1/2" TUBE SS-810-9 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
183 UNION ELBOW 3/4" TUBE X 3/4" TUBE SS-600-9 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
184 UNION ELBOW 3/4" TUBE X 3/4" TUBE SS-1210-9 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
185 MALE CONNECTOR 1" TUBE X 1" MALE PIPE SS-1610-1-16 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
186 UNION 1" TUBE X 1" TUBE SS-1610-6 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
187 UNION TEE 3/4"  TUBE - 3 PORTS SS-1210-3 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
188 UNION TE 1/4" TUBE - 3 PORTS SS-400-3 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 21 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
189 VALVE SS-83KS4 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
190 UNION ELBOW 1/4" TUBE X 1/4" TUBE SS-400-9 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
191 UNION 3/4" TUBE x 3/4" TUBE SS-1210-6 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
192 UNION TEE 1" TUBE - 3 PORTS SS-1610-3 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
193 UNION TEE 3/8" TUBE - 3PORTS SS-600-3 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
194 UNION TEE 1/2" TUBE - 3 PORTSSS-810-3 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
195 FEMALE CONNECTOR 3/4" TUBE X 3/4" FEMALE PIPE SS-1210-1-12 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
196 BUTTERFLY INSERT 6" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
197 1 3/8 ' X 10 3/4" STUD W/ HEX NUT EACH END Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
198 3' KING CABLE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
199 3/4" PLUGS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
200 3" 150# FLANGE RF WELDNECK STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
201 3" 300# FLANGE RF WELDNECK STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
202 TUBE STAINLESS ELECTRODE 1/8" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
203 2" 150# FLANGE WELDNECK RF XH Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
204 4" 150# FLANGE RF BLIND STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
205 4" 300# FLANGE RF BLIND Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
206 6" 150# FLANGE RF BLIND STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
207 8" 150# FLANGE FF SS W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
208 1 13/16" 10000# FLANGE RTJ BW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
209 1 13/16" 10000# FLANGE RTJ WN XXH Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
210 2" 600# FLANGE BLIND SLIP-ON Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
211 1/2" 150# FLANGE BLIND RF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
212 1" 300# FLANGE BLIND RF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
213 1 1/2" 150# FLANGE SLIP-ON RF SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
214 1" 150# FLANGE BLIND RF SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
215 1 1/2" 150# FLANGE SLIP-ON RF SS W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
216 2" 150# FLANGE SLIP-ON RF SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 22 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
217 2" 150# FLANGE RF W/THREAD SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
218 1 1/2" 150# FLANGE SLIP-ON RF SW XH Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
219 1 1/4" 150# FLANGE SLIP-ON RF SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
220 1" 300# FLANGE SLIP-ON RF W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
221 2" 300# FLANGE BLIND RF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
222 3" 150# FLANGE SLIP-ON RF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
223 3" 150# FLANGE SLIP-ON SW RF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
224 1" 150# FLANGE SLIP-ON SW RF XH Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
225 1" 300# FLANGE RF W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
226 1 1/2" 150# FLANGE RF W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
227 1" 150# FLANGE SLIP-ON RF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
228 2 1/2" 300# FLANGE SLIP-ON RF W/THREAD RF GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
229 3" 150# FLANGE SLIP-ON RF W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
230 1 1/2" 150# FLANGE SLIP-ON RF W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
231 2" 150# FLANGE SLIP-ON FF W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
232 2" 150# FLANGE SLIP-ON RF W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
233 3" 90 DEG. ELBOW STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
234 2" 45 DEG. ELBOW STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
235 3/4" 90 DEG. ELBOW 6M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
236 1" 90 DEG ELBOW SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
237 TEE 2" STD. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
238 2" X 1" REDUCER Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
239 TEE 3" STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
240 1/4" X 8" NIPPLE LG TBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
241 1/2" X 6" NIPPLE LG TUBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
242 3/4" X 6" NIPPLE LG TUBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
243 3/4" X 4" NIPPLE LG TUBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
244 1" X 2" NIPPLE LG TUBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 23 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
245 1 1/2" TEE 3M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
246 3/4" SW COUPLING 3M Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
247 1" SW COUPLING 3M Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
248 ELBOW 90 DEG. 1 1/2" 3M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
249 ELBOW 45 DEG. 1 1/2" 3M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
250 ELBOW 90DEG. 1" 6M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
251 ELBOW 90DEG 3/4" 6M W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
252 ELBOW 90DEG 2" 6M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
253 NIPPLE 2-1/2 X 4" LG TBE GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
254 NIPPLE 2" X 2" LG TBE GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
255 NIPPLE 1-1/2 X 2" LG TBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
256 2" 150 CHECK VALVE RF WALWORTH Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
257 2" 150 BALL VALVE RF W/HANDLE VELAN Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
258 2" 150 BALL VALVE RF W/ HANDLE KITZ Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
259 2 X 2" 300 BALL VALVE RF W/HANDLE AOP Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
260 2 X 2" 150 BALL VALVE RF W/HANDLE AOP Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
261 2 X 2" 600 BALL VALVE RF W/O HANDLE AOP Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
262 VALVE 1-1/2" WCB W/HANDLE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
263 1-1/2" BALL VALVE W/INNER THREAD BOTH ENDS W/HANDLE KITZ Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
264 SHACKLE 1-1/2" 17TON GALVANIZED Kiewitt Operations (Topsides Construction)

Produced on 2/14/2011 as BP-HZN-2179MDL00576981
Item Moved from 
Motion 2 to Motion 4

265 1" BALL VALVE MILWAKEE 35 SERIES W/ HANDLE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-
2179MDL02316744 No Comments

266 1" BALL VALVE JAMESBURY W/HANDLE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-
2179MDL02316744 No Comments

267 3/4" BALL VALVE FLOW SERVE 3000# W/HANDLE TOE/SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-
2179MDL02316744 No Comments

268 1" BALL VALVE FLOW SERVE 3000# W/HANDLE TOE/SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-
2179MDL02316744 No Comments

269 1-1/2" BALL VALVE JAMESBURY W/HANDLE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-
2179MDL02316744 No Comments

270 1" CHECK VALVE RF 150 DEVIS VALVES Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-
2179MDL02316744 No Comments

271 3/4" BALL VALVE NEIES JAMESBURY W/HANDLE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-
2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 24 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
272 3/4" BALL VALVE JAMESBURY W/HANDLE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
273 1/2 X 3/8" BALL VALVE KITZ TBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
274 1/2" BALL VALVE NUTROL W/HANDLE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
275 3/4" W-K-M DYNE SEAL W/HANDLE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
276 1" BALL VALVE 6000# FLOWMASTER SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
277 1/2" BALL VALVE W-K-M DYNE SEAL W/HANDLE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
278 1/2" KF 3000# W/HANDLE TBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
279 3/4" KF 3000# W/HANDLE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
280 3/4" BALL VALVE FLOW-TEK W/HANDLE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
281 1" BALL VALVE FLOW-TEK W/HANDLE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
282 HAND WHEELS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
283 FLUKE 1R THERMOMETER Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
284 NIPPLE 3" X 2-1/2" LG TBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
285 ELBOW 90 DEG 2" 3M TBE GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
286 TEE 2" 3M W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
287 TEE 1-1/2" W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
288 ELBOW 1-1/2" 90DEG 3M GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
289 TEE 1-1/2" W/THREAD GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
290 TEE REDUCER 2" X 2" X 1-1/2" 3M W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
291 PLUG 1" HEX HEAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
292 PLUG 3/4" HEX HEAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
293 TEE 1-1/2" W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
294 TEE REDUCER 3/4" X 3/4" X 1-1/2" W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
295 TEE 3/4" W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
296 ELBOW 90DEG 1-1/2" GALV W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
297 ELBOW 45DEG 1" 3M W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
298 ELBOW 45DEG 2" 3M W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
299 TEE REDUCER 1" X 1" X 3/4" 3M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 25 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
300 ELBOW 90DEG 3" 3M GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
301 PLUG 1" 6M TOE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
302 TEE 1" W/THREAD SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
303 TEE REDUCER 2" X 2" X 1" 3M W/THREAD SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
304 TEE 2" 3M W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
305 UNION 1" 3M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
306 ELBOW 90DEG 1/2" W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
307 UNION 1-1/4" 3M W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
308 REDUCING SWAGE NIPPLE 3" X 2" 5/40 TBE SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
309 REDUCING SWAGE NIPPLE 2-1/2" X 2" TBE GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
310 UNION 1/2" W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
311 TEE 1/2" 3M W/THREAD SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
312 ELBOW 90 DEG 1/2" 3M W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
313 COUPLING 1/2" W/THREAD GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
314 COUPLING 3/4" GALV W/ THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
315 REDUCER SWAGE NIPPLE 1-1/2" X 3/4" TBE GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
316 REDUCER SWAGE NIPPLE 2"X1/2" TBE GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
317 REDUCER SWAGE NIPPLE 2" X 1/2" TOE SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
318 REDUCER SWAGE NIPPLE 2" X 1" TBE GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
319 UNION 2 X 3M W/ THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
320 COUPLING 2" W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
321 COUPLING 2" 3M W/ THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
322 COUPLING 1-1/2" W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
323 REDUCER 2" X 1-1/2" CONCETRIC Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
324 COUPLING 3" 3M TBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
325 REDUCER 3" X 2" CONCENTRIC GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
326 REDUCER SWAGE NIPPLE 3" X 2" TBE SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
327 2" NIPPLE SS TOE/PE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 26 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
328 COUPLING 2" SW 6M Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
329 HEX HEAD PLUG 2" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
330 COUPLING 2" 3M W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
331 NIPPLE 2" X 4" TBE GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
332 REDUCER NIPPLE CONCETRIC 2" X 1-1/2" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
333 REDUCER CONCENTRIC NIPPLE 2" X 1-1/2" S/160 SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
334 REDUCER NIPPLE 2" X 1-1/2" S/160 SW/PE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
335 REDUCER NIPPLE SWAGE 2" X 3/4" SW/PE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
336 REDUCER SWAGE NIPPLE 2" X 1" S/160 TBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
337 NIPPLE 2" X 6" LG TBE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
338 NIPPLE 2" X 6" LG TBE GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
339 UNION 2" SW SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
340 U-BOLT 10" W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
341 U-BOLT 12" W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
342 U-BOLT 8" W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
343 U-BOLT 5" W/O NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
344 U-BOLT 4" W/O NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
345 U-BOLT 2" W/O NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
346 U-BOLT 1-1/2" W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
347 TUBE ELECTRODE 1/8" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
348 SINGLE DOOR P/N 538010 ST CABT 24X18X78 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
349 QT QSL P/N 753696 CABT 18X18X72 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
350 ROLL OF BLUE GARD GASKET 1/8" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
351 HEX HEAD PLUG 3/4 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
352 SQUARE PLUGS 5/8" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
353 STUD ALL THREAD 7/8 X 4-3/4 W/ NUTS GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
354 WELDOLET 3M 3X1 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
355 STUD ALL THREAD 7/8 X 5-1/4 W/ NUTS GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 27 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
356 RING GASKET BX 155 LCS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
357 STUD ALL THREAD 1-3/8" X 12" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
358 WELDOLET 3/4 X 1/2 3M Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
359 WELDOLET 1-1/4 X 3/4 6M Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
360 ELBOW 90DEG 1" 3M W/THREAD GALV. Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
361 WELDOLET 3/4 X 1/2" 6M Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
362 WELDOLET 3X1 3M W/ THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
363 WELDOLET 1"X1" XX-STG Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
364 WELDOLET 2X1 STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
365 WELDOLET 8X2 STD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
366 HEXHEAD PLUG 1-1/4" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
367 1/4 THREAD PIPE TAP Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
368 11-1/2 THREAD PIPE TAP Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
369 GREEN FLEXITALLIC GASKET 20" 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
370 YELLOW FLEXITALLIC GASKET 20" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
371 YELLOW FLEXITALLIC GASKET 18" 600 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
372 YELLOW FLEXITALLIC GASKET 8" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
373 GREEN FLEXITALLIC GASKET 6" 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
374 GREEN FLEXITALLIC GASKET 6" 600 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
375 GREEN FLEXITALLIC GASKET 3" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
376 GREEN FLEXITALLIC GASKET 4" 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
377 YELLOW FLEXITALLIC GASKET 8" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
378 YELLOW FLEXITALLIC GASKET 2" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
379 YELLOW FLEXITALLIC GASKET 1-1/2" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
380 GREEN FLEXITALLIC GASKET 1-1/2 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
381 GREEN FLEXITALLIC GASKET 1-1/2 600 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
382 GREEN FLEXITALLIC GASKET 8" 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
383 GREEN FLEXITALLIC GASKET 2" 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 28 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
384 YELLOW FLEXITALLIC GASKET 2" 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
385 RING SEAL BX156 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
386 R46 OVAL Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
387 RING GASKET BX154 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
388 RING GASKET BX155 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
389 RING GASKET BX169 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
390 SWAGELOCK UNION ELBOW 3/8 X 3/8 TUBE SS-600-9 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
391 UNION TEE 1/2 TUBE - 3 PARTS SS-810-3 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
392 VALVE SS-83KS6 SWAGELOCK Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
393 HEX/STUD 7/8 /5 B7 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
394 1-1/2 90DEG ELBOW W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
395 STUDS ALL THREAD 5/8" X 3-1/4" W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
396 STUDS ALL THREAD 3/4" X 6" W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
397 STUDS ALL THREAD 5/8" X 3" W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
398 STUDS ALL THREAD 7/8" X 6-1/4" W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
399 STUDS ALL THREAD 5/8" X 5-1/4" W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
400 STUDS ALL THREAD 5/8" X 5-1/2" W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
401 STUDS ALL THREAD 3/4" X 5-3/4" W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
402 STUDS ALL THREAD 3/4" X 3-1/2" W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
403 STUDS ALL THREAD 7/8" X 6-1/4" W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
404 3/4" HEX NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
405 3/4 X 4-3/4 ALL THREAD STUDS W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
406 5/8 X 4 ALL THREAD STUDS W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
407 1 X 7 ALL THREAD STUDS W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
408 1" X 3" NIPPLE TBE GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
409 EXPANSION JOINT 2X6 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
410 STUDS ALL THREAD 3/4" X 4-3/4" W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
411 HEX HEAD PLUG 3-1/8" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 29 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
412 WELDOLET 6X2 XXH Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
413 STUDS ALL THREAD 1/2" X 4-3/4" W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
414 BOLTS 3/4 X 2" W/ NUTS FW/LW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
415 ELBOW 90DEG 6" XH Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
416 ELBOW 90DEG 2" X 1/2 WELL Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
417 STUDS ALLTHREAD 3/4 X 4-1/4 W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
418 STUDS ALLTHREAD 3/4 X 5-1/8 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
419 STUDS ALL THREAD 1/2 X 3-1/8 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
420 STUDS ALL THREAD 5/8 X 4 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
421 STUDS ALL THREAD 5/8 X 5-1/4 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
422 1/2" NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
423 PLUG 1" TOE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
424 STUD ALL THREAD 1/8 X 8 LG W/NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
425 STUD ALL THREAD 1/8 X 8 3/4 W/NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
426 ALL THREAD STUDS 3/8 X 5 1/4 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
427 3/8 NUTS HEX Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
428 1/2 HEX NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
429 STUD ALL THREAD 1/2 X 4 W/O NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
430 STUD ALL THREAD 1/2 X 6 W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
431 STUD ALL THREAD 1/2  6 W/ NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
432 STUD ALL THREAD 1/8 X 8 W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
433 3/4 X 5 ALL THREAD STUDS W/O NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
434 BALL 1.5" BORE SS FLTGBL Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
435 STUDS ALL THREAD 3/4" X 4" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
436 FLANGE WELDNECK 2" 150 RF Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
437 STUDS ALL THREAD 1 1/4 X 11 3/8 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
438 GAGELOCKS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
439 STUDS ALL THREAD 3/4 X 5 1/2 W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 30 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
440 STUDS ALL THREAD 3/4 X 5 3/4 W/O NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
441 SHOE COVERS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
442 STUDS ALL THREAD 1 1/2 X 11 1/2 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
443 HEX NUTS 3/4 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
444 STUDS ALL THREAD 3/8 X 5 W/O NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
445 ALL THREAD STUDS 5/8 X 4 W/O NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
446 ADAPTER 1" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
447 STUDS ALL THREAD 3/8 X 3 3/4 W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
448 HOSE HEAD NOZZLES Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
449 GAUGES 0-160 PSI Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
450 LQ814B FILTER ELEMENT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
451 6D806 FILTER ELEMENT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
452 INSERT CHASER RIGID UNIVERSAL 1/2 -3/4 NPT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
453 STUD ALL THREAD 3/8 X 9 3/4 W/NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
454 U-BOLT 3" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
455 STUD ALL THREAD 3/4 X 6 W/NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
456 STUD ALL THREAD 7/8 X 5 3/8 W/ NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
457 STUD ALL THREAD 5/8 X 3 1/4 W/ NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
458 BOLT 7/8 X 5 W/NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
459 HEX NUTS 5/8 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
460 NIPPLE 3/4 X 3 TOE/PE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
461 NIPPLE 3/4 X 3 PE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
462 COUPLING 1/2 3M W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
463 ELBOW 90 DEGREE 3/4 3M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
464 ELBOW 90 DEGREE 1" 3M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
465 ELBOW 90 DEGREE 3/4 6M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
466 TEE 3/4 3M SW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
467 TEFLON TAPE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 31 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
468 STUD ALL THREAD 3/8 X 4 W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
469 STUDS ALL THREAD 3/8 X 4 W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
470 REGULATOR R-17-600R Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
471 U-BOLT 1 1/2" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
472 BOLT 7/8 X 8 W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
473 STUDS ALL THREAD 3/4" X 5 5/8" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
474 NIPPLE W/THREAD Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
475 STUDS ALL THREAD 3/8: X 5 1/2" NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
476 STUDS ALL THREAD 3/4 X 4 1/4 W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
477 90 DEGREE ELBOW SW 1 1/4" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
478 STUDS ALL THREAD 3/4 X 4 3/8" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
479 STUDS ALL THREAD 1/2 X 3 W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
480 STUDS ALL THREAD 3/4 X 11 1/2 W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
481 STUDS ALL THREAD 3/4 X 5 W/NUTS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
482 BOLTS 3/4 X 3 W/ NUT FW/LW Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
483 STUDS ALL THREAD 1/2" X 3 3/4" W/NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
484 STUDS ALL THREAD 1/8 X 9 W/NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
485 STUDS ALL THREAD 3/4 X 4 3/4 W/NUT Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
486 ELBOLET 2 1/2" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
487 METAL BLOCKS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
488 WELDOLET 2 X 1.250 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
489 38 X 36 X 400 CLEAR 50/RL Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
490 VALVE, .15P8071 W/HANDLE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
491 VALVE, CT9990-50G Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
492 VALVE 2B6X15P8 W/HANDLE Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
493 CONNECTOR Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
494 RING GASKET R23 OVAL-S Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
495 CHECK VALVE 1" Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 32 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
496 CAPS 3" GALV Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
497 ELBOW 90 DEGREE 4" SS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
498 GREEN FLEXITALLIC GASKET 2" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
499 GREEN FLEXITALLIC GASKET 1 1/4" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
500 GREEN FLEXITALLIC GASKET 3/4" 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
501 YELLOW FLEXITALLIC GASKET 1" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
502 YELLOW FLEXITALLIC GASKET 3/4" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
503 YELLOW FLEXITALLIC GASKET 3/4" 600 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
504 YELLOW FLEXITALLIC GASKET 8" 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
505 GREEN FLEXITALLIC GASKET 3" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
506 GREEN FLEXITALLIC GASKET 3" 600 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
507 BLUE FLEXITALLIC GASKET 3" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
508 GREEN FLEXITALLIC GASKET 4" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
509 GREEN FLEXITALLIC GASKET 2" 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
510 YELLOW FLEXITALLIC GASKET 1 1/2" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
511 GREEN FLEXITALLIC GASKET 10" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
512 GREEN FLEXITALLIC GASKET 8" 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
513 GREEN FLEXITALLIC GASKET 4" 600 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
514 YELLOW FLEXITALLIC GASKET 18" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
515 GREEN FLEXITALLIC GASKET 3" 150 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
516 GREEN FLEXITALLIC GASKET 6" 300 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
517 RING GASKET BX 169 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
518 RING GASKET BX 155 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
519 RING GASKET BX 156 LCS Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
520 RING GAKSET R49 Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
521 TOOL BOXES Kiewitt Operations (Topsides Construction) BP-HZN-2179MDL02316737 - BP-HZN-

2179MDL02316744 No Comments
522 I-BEAM Kiewitt Offshore, BP Surplus - Appear to never be used

BP-HZN-2179MDL02316745 No Comments
523 I-BEAM Kiewitt Offshore, BP Surplus - Appear to never be used

BP-HZN-2179MDL02316746 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 33 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
524 I-BEAM Kiewitt Offshore, BP Surplus - Appear to never be used

BP-HZN-2179MDL02316747 No Comments
525 I-BEAM Kiewitt Offshore, BP Surplus - Appear to never be used

BP-HZN-2179MDL02316747 No Comments
526 SQUARE TUBING Toisa Pisces, BP Surplus

BP-HZN-2179MDL02316746 No Comments
527 ANGLE IRON Toisa Pisces, BP Surplus

BP-HZN-2179MDL02316748 No Comments
528 ANGLE IRON Toisa Pisces, BP Surplus

BP-HZN-2179MDL02316746 No Comments
529 ANGLE IRON Toisa Pisces, BP Surplus

BP-HZN-2179MDL02316746 No Comments
530 SQ METAL PAD Toisa Pisces, BP Surplus

BP-HZN-2179MDL02316749 No Comments
531 SQ METAL PAD Toisa Pisces, BP Surplus

BP-HZN-2179MDL02316749 No Comments
532 SQ METAL PAD Toisa Pisces, BP Surplus

BP-HZN-2179MDL02316749 No Comments
533 SQ METAL PAD Toisa Pisces, BP Surplus

BP-HZN-2179MDL02316749 No Comments
534 6" VALVE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316750 No Comments
535 BUTTERFLY VALVE 6" 150 W/WHEEL HANDLE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316751 No Comments
536 LEVEL GAUGE 5 SEC. 8-R-20 1640PSI, 600F  2390PSI, 100F Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316752 No Comments
537 ACTUATOR ASSY TYPE 1052 ROTARY WITH BUTTERFLY VALVE 8" Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316753 No Comments
538 6" 150 FLANGE RF Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316753 No Comments
539 12" WELDNECK FLANGE RF Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316753 No Comments
540 6" 150 FLANGE RTJ Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316754 No Comments
541 5-1/8" 10,000 FLANGE RTJ Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316754 No Comments
542 7-1/16" 10,000 FLANGE RTJ Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316754 No Comments
543 1-1/2" ALL THREAD STUDS W/HEX NU T ON EACH END Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316754 No Comments
544 LEVEL GAUGE, 3 SEC. 8-R-20 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
545 LEVEL GAUGE  1-2 SECT -4T-20 1-2 SECT -5T-20 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
546 O-RING VITON BODY SEAL #04509-144 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
547 LUBE FITTING 3/16 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
548 HEX NUT 1/2 - 13 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
549 GASKET Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
550 STUD ALL THREAD 1/2-13 X 1-3/4" LONG Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
551 ORING VITON STEM SEQ# 04509-115 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 34 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
552 O-RING BUNA 70 DURO WEATHER SEAL Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
553 THRUST BEARING 7/8 ID X 1-1/8" Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
554 SEAT TEFLON 2" RP ALL SERIES Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
555 STEM BEARING Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
556 RETAINING RING - EXTERNAL Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
557 THREAD TEP Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
558 AIRTECK CENTRAL SOLENIODS -TP8101 (ASCO) Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
559 BAG OF HEX NUTS 1/2" Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
560 UNION BOLT 1-3/8" W/TBE 3000 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
561 UNION BOLT 1-1/4" SW 6000 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
562 1" UNION FIG 200 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316755 No Comments
563 8" VALVES Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316756 No Comments
564 POLYSTONE M REPRO GREEN 3/4 X 48 X 120 Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316757 No Comments
565 8" 900 WELDNECK FLANGE RTJ Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316758 No Comments
566 8" 150 WELDNECK FLANGE STD Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316758 No Comments
567 10" 150 FLANGE RF Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316758 No Comments
568 8" 300 FLANGE RF Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316758 No Comments
569 12" 150 FLANGE RF Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316758 No Comments
570 REDUCER - 12X8 STD Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316759 No Comments
571 ELBOW REDUCER 10 X 8 STD Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316760 No Comments
572 10" FLANGE WELDNECK RF 150# STD Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316761 No Comments
573 12" FLANGE WELDNECK RF 150# STD Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316762 No Comments
574 6" X 1.250 WELL ELBOW 90 DEGREE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316763 No Comments
575 6" X 1.250 WELL ELBOW 45 DEGREE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316763 No Comments
576 6" 1500 FLANGE - RTJ Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316763 No Comments
577 8" 150 FLANGE RF Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316764 No Comments
578 8" 300# FLANGE RF Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316764 No Comments
579 6" 300# FLANGE RF Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316764 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 35 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
580 10" STD TEE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316765 No Comments
581 12" STD ELBOW 90 DEGREE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316766 No Comments
582 8" 1500 WELDNECK FLANGE RTJ Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316767 No Comments
583 WALL ELBOW 90 DEGREE (6" X 1.250) Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316767 No Comments
584 10" WELDNECK FLANGE RF Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316768 No Comments
585 1" BUTTWELD FLANGE RTJ Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316768 No Comments
586 WALL ELBOW 90 DEGREE (6" X 1.250) Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316768 No Comments
587 WALL ELBOW 45 DEGREE (6 X 1.250) Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316768 No Comments
588 12" STD TEE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316769 No Comments
589 8" STD TEE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316769 No Comments
590 WELDNECK FLANGE 10" RF Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316770 No Comments
591 8" TEE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316770 No Comments
592 10" 90 DEGREE ELBOW STD Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316770 No Comments
593 10" STD ELBOW 90 DEGREE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316771 No Comments
594 12" STD ELBOW 90 DEGREE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316771 No Comments
595 *" WELDNECK FLANGE RF Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316772 No Comments
596 10" 150 WELDNECK FLANGE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316773 No Comments
597 4" BUTT WELD FLANGE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316773 No Comments
598 1' BUTT WELD FLANGE Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316773 No Comments
599 1" 90 DEGREE FITTING ELBOW Kiewitt Operations - Toisa Pisces

BP-HZN-2179MDL02316773 No Comments
600 8" PIPE SPOOL Topsides spool piece from process vessel

BP-HZN-2179MDL02316774 No Comments
601 PC. 4" PIPE SCH 160 Used for operating spools

BP-HZN-2179MDL02316775 No Comments
602 1-1/8" X 8" BOLT Raw materials

BP-HZN-2179MDL02316776 No Comments
603 1-1/8" WASHER Raw materials

BP-HZN-2179MDL02316777 No Comments
604 1" NUTS Raw materials

BP-HZN-2179MDL02316778 No Comments
605 GASKETS I.D. 8-3/4" Raw materials for handling 

BP-HZN-2179MDL02316779 No Comments
606 PCS OF STEEL OR SHIMS Raw materials

BP-HZN-2179MDL02316780 No Comments
607 PLATES OF STEEL 7-1/2" X 6-1/2" X 1/4" Raw materials

BP-HZN-2179MDL02316781 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 36 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
608 1 OFF VBR ADAPTER (BOP STACK 1800') Vertebrae adapter - CDP-39-GE-DG-0137

Produced on 4/18/2011 as BP-HZN-2179MDL01151773 See Note 1
609 1 OFF ADAPTER (BOP STACK 1800') End fitting interface adapter CDP-39-GE-DG-0136

Produced on 4/18/2011 as BP-HZN-2179MDL01151773 See Note 1
610 B7 STUDS 1-3/8" X 13" LONG Raw materials

BP-HZN-2179MDL02316782 No Comments
611 2H NUTS 1-3/8" Raw materials

BP-HZN-2179MDL02316782 No Comments
612 BX-156 GASKETS 316L Raw materials

BP-HZN-2179MDL02316782 No Comments
613 WASHERS 1-3/8" Raw materials

BP-HZN-2179MDL02316782 No Comments
614 B7 STUDS 1-1/2" X 16" LONG Raw materials

BP-HZN-2179MDL02316782 No Comments
615 2H NUTS 1-1/2" Raw materials

BP-HZN-2179MDL02316782 No Comments
616 WASHER 1-1/2" Raw materials

BP-HZN-2179MDL02316782 No Comments
617 B7 STUDS 1-1/2" X 16" LONG Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
618 2H NUTS 1-1/2" Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
619 WASHERS 1-1/2" Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
620 B7 STUDS 1-3/8" X 13" LONG Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP HZN 2179MDL02316783 BP HZNBP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
621 2H NUTS 1-3/8" Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
622 WASHERS 1-3/8" Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
623 BX-156 GASKETS 316L Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
624 BLIND FLANGE 7" 10K Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
625 STUDDED ADAPTER 3" 15k X 7" 5k Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 37 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
626 STUDS 1-3/8" Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
627 NUTS 1-3/8" Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
628 GASKET BX-154 316L Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
629 GASKETS 3" AX STYLE Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
630 RING GASKET P/N# 2010199-01 Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
631 1-3/8" X 7" STUDS Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
632 1-3/8" X 10-3/4" STUDS Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
633 1-1/8" X 8" STUDS Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
634 1 3/8" NUTS Mi ll t i l Produced on 4/18/2011 as BP HZN 2179MDL01151754634 1-3/8" NUTS Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
635 HUB Miscellaneous raw materials Produced on 4/18/2011 as BP-HZN-2179MDL01151754 -

BP-HZN-2179MDL01151757; Additional Photos Include: 
BP-HZN-2179MDL02316783 - BP-HZN-

2179MDL02316784 See Note 1
636 1-3/8" UN X 17" STUD Unused studs / nuts

BP-HZN-2179MDL02316785 No Comments
637 1-3/8" UN HEAVY HEX NUTS Unused studs / nuts

BP-HZN-2179MDL02316785 No Comments
638 STUDS 1-1/2" Unused raw materials and adaptors BP-HZN-2179MDL02316786 - BP-HZN-

2179MDL02316787 No Comments
639 NUTS 1-1/2" Unused raw materials and adaptors BP-HZN-2179MDL02316786 - BP-HZN-

2179MDL02316787 No Comments
640 GASKET BX-156 316L Unused raw materials and adaptors BP-HZN-2179MDL02316786 - BP-HZN-

2179MDL02316787 No Comments
641 GASKET BX-155 316L Unused raw materials and adaptors BP-HZN-2179MDL02316786 - BP-HZN-

2179MDL02316787 No Comments
642 GASKET BX-154 316L Unused raw materials and adaptors BP-HZN-2179MDL02316786 - BP-HZN-

2179MDL02316787 No Comments
643 STUDDED FLANGE 3" 15k X 4" 10k Unused raw materials and adaptors BP-HZN-2179MDL02316786 - BP-HZN-

2179MDL02316787 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 38 of 47



Exhibit D

Item Number Description Detail Description Production Bates # Comments
644 STUDDED FLANGE 7" 10k X 4" 10K Unused raw materials and adaptors BP-HZN-2179MDL02316786 - BP-HZN-

2179MDL02316787 No Comments
645 WELDNECK FLANGE 7" 10k Unused raw materials and adaptors BP-HZN-2179MDL02316786 - BP-HZN-

2179MDL02316787 No Comments
646 WIRE ROPE SLING 25" X 3/4" Unused raw materials and adaptors BP-HZN-2179MDL02316786 - BP-HZN-

2179MDL02316787 No Comments
647 HYDRATE DEFLECTOR Hydrate deflection assembly - never used

BP-HZN-2179MDL02316788 No Comments
648 YELLOW PLASTIC SHEETS W/20 FLAT BARS & 2 PINS Hydrate deflection assembly - never used

BP-HZN-2179MDL02316789 No Comments
649 4" LOOSE PIPE SPOOL Topsides process piping

BP-HZN-2179MDL02316790 No Comments
650 PIPE SPOOLS 4" Topsides process piping

BP-HZN-2179MDL02316791 No Comments
651 PIPE SPOOLS 4" Topsides process piping

BP-HZN-2179MDL02316792 No Comments
652 SACKS W/BOLTS AND GASKETS Raw materials

BP-HZN-2179MDL02316793 No Comments
653 BOLTS Raw materials

BP-HZN-2179MDL02316794 No Comments

Note 1: These photos contain multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second and third equipment motions.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 39 of 47



 

  

 
 
 
 
 
 
 
 
 
 

EXHIBIT E 
  

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 40 of 47



Exhibit E

Item Number Description Detail Description Production Bates # Comments
1 EMPTY TOTE #163775 Toisa Pisces - Container for Liquids BP-HZN-2179MDL02316795 - BP-HZN-

2179MDL02316796 No Comments
2 FULL TOTE #48121-21 Toisa Pisces - Anti-foam agent BP-HZN-2179MDL02316795 - BP-HZN-

2179MDL02316796 No Comments
3 EMPTY TOTE #51847-24 Toisa Pisces - Container for Liquids BP-HZN-2179MDL02316795 - BP-HZN-

2179MDL02316796 No Comments
4 EMPTY TOTE #34984-14 Toisa Pisces - Container for Liquids BP-HZN-2179MDL02316795 - BP-HZN-

2179MDL02316796 No Comments
5 FULL TOTE #9988 Toisa Pisces - Corrosion inhibitor

BP-HZN-2179MDL02316795 - BP-HZN-
2179MDL02316796 No Comments

6 CITREM SP 70-K 25KG (EA) Danisco Brand Emulsifier
BP-HZN-2179MDL02316797 No Comments

7 TRANSAUGQUA HYDRAULIC FLUID 5 GAL BUCKET Water-based Subsea Control Fluid
BP-HZN-2179MDL02316797 No Comments

8 5 GAL. CENTURION 3% AQUEOUS FILM FOAMING FOAM Fire extinguishing foam
Produced on 4/18/2011 as BP-HZN-2179MDL01151529 See Note 2

9 TOTE TANK (TT-11) Oceaneering  Liquid Tote Tank for Fluid Transfer and Storage
BP-HZN-2179MDL02316798 No Comments

10 50 GAL ANSULITE (FOR FIRE EXTINGUISHER) Fire extinguishing foam
BP-HZN-2179MDL02316799 No Comments

11 50 GAL 542 OIL Castrol Transagua HT Water-Based Storage Fluid
BP-HZN-2179MDL02316800 No Comments

12 5 GAL PAILS TULLES 32 OIL Tellus Oil 32 - Hydraulic Oil
BP-HZN-2179MDL02316801 No Comments

13 5 GAL PAILS TULLES 32 OIL Tellus Oil 32 - Hydraulic Oil
BP-HZN-2179MDL02316801 No Comments

14 5 GAL PAILS TULLES 32 OIL Tellus Oil 32 - Hydraulic Oil
BP-HZN-2179MDL02316801 No Comments

15 5 GAL PAILS TULLES 32 OIL Tellus Oil 32 - Hydraulic Oil
BP-HZN-2179MDL02316801 No Comments

16 5 GAL PAILS TULLES 32 OIL Tellus Oil 32 - Hydraulic Oil
BP-HZN-2179MDL02316801 No Comments

17 550 GAL TOTE (NEW MEG 50/50) LOOSE ITEM - S/N#207111 Low Dose Hydrate Inhibition Fluid
BP-HZN-2179MDL02316802 No Comments

18 550 GAL TOTE (USED MEG 50/50) LOOSE ITEM - S/N#3000941 Low Dose Hydrate Inhibition Fluid
BP-HZN-2179MDL02316803 No Comments

19 ROYAL PURPLE SAE 15W 55-GAL DRUM Engine Lubricant BP-HZN-2179MDL02316804 - BP-HZN-
2179MDL02316806 No Comments

20 ROYAL PURPLE SYNFILM RECIP 150  55 GAL DRUM Air Compressor/Pump Lubricant BP-HZN-2179MDL02316804 - BP-HZN-
2179MDL02316806 No Comments

21 SHELLZONE ALL SEASON ANTIFREEZE/COOLANT 50/50 RTU 55 GAL. 
DRUM

Engine Cooling System Fluid BP-HZN-2179MDL02316804 - BP-HZN-
2179MDL02316806 No Comments

22 1/4 FILLED 5GAL. PAILS W/OIL Miscellaneous Lubricating Oil BP-HZN-2179MDL02316804 - BP-HZN-
2179MDL02316806 No Comments

23 MARVEL MYSTERY OIL 77874-020146 Engine Lubricant Produced on 4/18/2011 as BP-HZN-2179MDL01151877 -
BP-HZN-2179MDL01151880 See Note 2

24 CONOCO HYDROCLEAR AW HYDRAULIC FLUID 46 1040336 Hydraulic Fluid Produced on 4/18/2011 as BP-HZN-2179MDL01151877 -
BP-HZN-2179MDL01151880 See Note 2

25 ROYAL PURPLE MOTOR OIL 15W-40 HD P/N 11563 (5 GALLON BUCKET) Engine Lubricant Produced on 4/18/2011 as BP-HZN-2179MDL01151877 -
BP-HZN-2179MDL01151880 See Note 2

26 PREMIUM STARTING FLUID P/N 701150 Engine Starting Fluid Produced on 4/18/2011 as BP-HZN-2179MDL01151881 -
BP-HZN-2179MDL01151883 See Note 2

27 EYE & SKIN FLUSHING SOLUTION 8FL OZ. Eye & Skin Flushing Fluid Produced on 4/18/2011 as BP-HZN-2179MDL01151881 -
BP-HZN-2179MDL01151883 See Note 2

28 BQARREL BLK 1/4 FULL (UNKNOW FLUID CONTENT) Miscellaneous Fluid in Black Barrel Produced on 4/18/2011 as BP-HZN-2179MDL01151881 -
BP-HZN-2179MDL01151883 See Note 2

Note 2: These photos contain images of multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second equipment motion.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 41 of 47



Exhibit E

Item Number Description Detail Description Production Bates # Comments
29 WD-40 16OZ Aerosol Lubricant Produced on 4/18/2011 as BP-HZN-2179MDL01151881 -

BP-HZN-2179MDL01151883 See Note 2
30 KOPR-KOTE COPPER ANTI-SEIZE LUBRICANT 100oz. 227g Metal to Metal Seal Lubricant Produced on 4/18/2011 as BP-HZN-2179MDL01151881 -

BP-HZN-2179MDL01151883 See Note 2
31 BIG RED GREASE TUBES Grease Lubricant Produced on 4/18/2011 as BP-HZN-2179MDL01151881 -

BP-HZN-2179MDL01151883 See Note 2
32 WD-40 11oz Aerosol Lubricant Produced on 4/18/2011 as BP-HZN-2179MDL01151884 -

BP-HZN-2179MDL01151885 See Note 2
33 MARVEL MYSTERY 1 gal. Engine Lubricant Produced on 4/18/2011 as BP-HZN-2179MDL01151884 -

BP-HZN-2179MDL01151885 See Note 2
34 EMERGENCY EYE & SKIN FLUSH Eye & Skin Flushing Fluid Produced on 4/18/2011 as BP-HZN-2179MDL01151884 -

BP-HZN-2179MDL01151885 See Note 2
35 ANTI-SIEZE & LUBRICANT COMPUAND Metal to Metal Seal Lubricant Produced on 4/18/2011 as BP-HZN-2179MDL01151884 -

BP-HZN-2179MDL01151885 See Note 2
36 GREASE Grease Lubricant Produced on 4/18/2011 as BP-HZN-2179MDL01151884 -

BP-HZN-2179MDL01151885 See Note 2
37 5 GALLON JUG (ETHYLENE GLYCOL) - 50510 Control Fluid for valve operations during installation / on deck testing

Produced on 4/18/2011 as BP-HZN-2179MDL01152009 See Note 2
38 5 GALLON JUG (ETHYLENE GLYCOL) - 442780 Control Fluid for valve operations during installation / on deck testing

Produced on 4/18/2011 as BP-HZN-2179MDL01152009 See Note 2
39 BOTTLE CONTAINING:  GLYCERINE (16 OZ) - USED

BP-HZN-2179MDL02316807 No Comments
40 BOX CONTAINING FLUID SAMPLING BOTTLES Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316808 No Comments
41 BAG, FLUID SAMPLING BOTTLE, USED #9 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316809 No Comments
42 BAG, FLUID SAMPLING BOTTLE, USED #8 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316810 No Comments
43 BAG, FLUID SAMPLING BOTTLE, USED #7 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316811 No Comments
44 BAG, FLUID SAMPLING BOTTLE, USED #10 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316812 No Comments
45 BAG, FLUID SAMPLING BOTTLE, USED #11 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316813 No Comments
46 BAG, FLUID SAMPLING BOTTLE, USED #12 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316814 No Comments
47 BOX CONTAINING FLUID SAMPLING BOTTLES (9) Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316815 No Comments
48 FLUID SAMPLING BOTTLE, USED #6 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316816 No Comments
49 FLUID SAMPLING BOTTLE, USED #13 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316817 No Comments
50 FLUID SAMPLING BOTTLE, USED #3 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316818 No Comments
51 FLUID SAMPLING BOTTLE, USED #14 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316819 No Comments
52 FLUID SAMPLING BOTTLE, USED #1 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316820 No Comments
53 FLUID SAMPLING BOTTLE, USED #2 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316821 No Comments
54 FLUID SAMPLING BOTTLE, USED #4 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316822 No Comments
55 FLUID SAMPLING BOTTLE, USED #5 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316823 No Comments
56 FLUID SAMPLING BOTTLE, USED #6 Water samples typically used to assess water column profile for acoustic 

surveying BP-HZN-2179MDL02316824 No Comments
57 CAN OF GLYCERINE 16 OZ Multi-use Fluid (Lubricant)

BP-HZN-2179MDL02316825 No Comments

Note 2: These photos contain images of multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second equipment motion.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 42 of 47



Exhibit E

Item Number Description Detail Description Production Bates # Comments
58 TOTES OF UNUSED HW540 - S/N# 210244 Hydraulic Control Fluid (Water/glycol fluid with additives)

BP-HZN-2179MDL02316826 No Comments
59 TOTES OF UNUSED HW540 - S/N: 201524 Hydraulic Control Fluid (Water/glycol fluid with additives)

BP-HZN-2179MDL02316827 No Comments
60 TOTES OF UNUSED HW540 - S/N# 211668 Hydraulic Control Fluid (Water/glycol fluid with additives)

BP-HZN-2179MDL02316828 No Comments
61 TOTES OF UNUSED HW540 - S/N# HH-199824 Hydraulic Control Fluid (Water/glycol fluid with additives)

BP-HZN-2179MDL02316829 No Comments

Note 2: These photos contain images of multiple items in addition to those listed on this list; other items not listed here were released per court orders granting BP's second equipment motion.

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 43 of 47



 

  

 
 
 
 
 
 
 
 
 
 

EXHIBIT F 
 
 
 

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 44 of 47



Exhibit F

Item Number Description Detail Description Production Bates #
1 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

2 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
3 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

4 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
5 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

6 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
7 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

8 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
9 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

10 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
11 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

12 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
13 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

14 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
15 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

16 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
17 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

18 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
19 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

20 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 45 of 47



Exhibit F

Item Number Description Detail Description Production Bates #
21 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

22 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
23 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

24 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
25 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

26 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
27 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

28 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
29 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

30 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
31 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

32 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
33 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

34 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
35 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 

BP-HZN-2179MDL02316830 - BP-HZN-
2179MDL02316832

36 SUPERSACKS OF SAND 4,200lb Sand Bag with 4,960lb synthetic handling sling 
BP-HZN-2179MDL02316830 - BP-HZN-

2179MDL02316832
37 LEAD POUR PORT Lead smelting and pouring pot (Used to pour ballast lead into Top Hats)

BP-HZN-2179MDL02316833
38 SAND BAGS

BP-HZN-2179MDL02316834
39 SAND BAGS

BP-HZN-2179MDL02316834
40 SAND BAGS

BP-HZN-2179MDL02316834

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 46 of 47



Exhibit F

Item Number Description Detail Description Production Bates #
41 SAND BAGS

BP-HZN-2179MDL02316834

   Case 2:10-md-02179-CJB-SS   Document 3195    Filed 07/08/11   Page 47 of 47


